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Class Name

10.
11.
12.

13.

Choose and write the word. Change the verbs if necessary.

beaker
satellite

wipe
artificial

shine
dissolve

fogay

You can't see far this morning because it is

This grass is

The scientist mixed the chemicals in a(n)

Sugar

The sun

Nick

The

drops of water that form outside on grass
or other surfaces

operating through the use of many small
electrical parts

a liquid substance that is used to dissolve
another substance

the inside surface at the top of a room

a large and deep spoon with a long
handle that is used for serving a liquid

all of space and everything in it including
stars, planets, etc.

in hot tea.

, notreal.

and gives us daylight.
the table clean after dinner.

is sending messages to Earth from space.

Look at the definition. Correct the wrong spelling and write.

due

electronix

soulvunt

seiling

laddle

uniberce




STEAM Reading Elementary 3 e

= Read the passage. Then choose the correct answer.

[14-19]
When we look up at the sky it can be hard to spot the stars.
This is because the bright lights of the city make them hard to see. @

That's one reason why | like to go to 14 in the country.

In the country, there are not so many bright lights. @

My dad and | make a(n) 1> and sit around it to keep warm.

I'll never forget the first time | saw Orion. @

Orion is a group of stars.

My dad pointed to it and told me that it looks like a belt.
That’'s a good way to remember which one it is!

14, constellation camping online

15. campfire incense stick constellation

16. What is the best place for the sentence below?

Here, the sky is dark, black, and clear.

a.® b. @ c.®

17. What did the writer's dad do?¢
a. point b. invent c. deliver

18. Why do the writer and his dad go to the country?e
a. To remember the constellations
b. To keep warm around a fire
c. To see the stars more clearly

19. What does spot mean in the passage?
a. feel b. know C.see




STEAM Reading Elementary 3

= Read the passage. Then choose the correct answer.

[20-25]
Jonis a designer. He makes objects we can use in the kitchen.

Today, Jon is making a coffee cup. M

First, Jon needs to 20 some special software on his
computer.

Next, he makes the design on the computer.
Then he delivers this to the 3D printer.

The 3D printer moves in all directions to create the coffee cup. @
When Jon first started using 3D printers, they were very 21-

Now, they are quite cheap and can make everything, even artificial
human hearts. @

20. dissolve install cool down

21. expensive recognizable various

22. What is the best place for the sentence below?

It sends out heated plastic which builds up.

a.® b. @ c.®

23. What does Jon use to design the cup?
a. coffee b. software c. light box

24. Why might 3D printers be more common today?
a. They are quick and easy to use.
b. They cost more than they used to.
c. They are cheap and can make almost any object.

25. What does deliver mean in the passage?¢
a. send b. install c. take




